Standard Form I

é\

REVISE THIS
TOPIC

1 (a) Write 6.2 x 10% as an ordinary number.

(b) Write the number 14000 in standard form.

2 (a) Write 3.3x10° asan ordinary number.

(b) Write the number 0.0004 in standard form.

3 (@) Write 9.3x10* as an ordinary number.

(b) Write the number 65200 in standard form.

1
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6200

.4 x\O(*

(Total for Question 1 is 2 marks)

0:-000032

G x 10"

(Total for Question 2 is 2 marks)

0-000972

(5200

(Total for Question 3 is 2 marks)
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4 (a) Write 9.61 x 105 as an ordinary number.

(b) Write the number 0.62 in standard form.

5 (a) Write 8x 102 as an ordinary number.

(b) Write the number 770 000 in standard form.

6 (a) Write 7.5x102 asan ordinary number.

(b) Write the number 0.0404 in standard form.

(Total for Question 4 is 2 marks)

0-08

13 X0

(Total for Question 5 is 2 marks)

150

4-O% x |0

(Total for Question 6 is 2 marks)
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7 (a) Write the number  five million in standard form.

S 000 000

S X lO"

(b) Write the number  six thousand three hundred in standard form.

6300
6 3% (0

(Total for Question 7 is 2 marks)

8 Write these numbers in order of size.
Start with the smallest number.

6 x 104 6.7 x 102 9 x10° 9.5x 101

boooo 6y0 q 000 0-9S

9-S %10 6:3 x(0", %\0”3 bx \0

(Total for Question 8 is 2 marks)

9 Write these numbers in order of size.
Start with the smallest number.

4 %1071 3x103 5 x 102 5.1x 104
0-4 0:-007} S 00 ®- 0005

S x\O"Z ’Lxm'z;tmo", 3x\9.

(Total for Question 9 is 2 marks)
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10 Write these numbers in order of size.
Start with the smallest number.

5.5 x 104 55 x 102 550 x 103 0.55 x 107
SSoob SSpo SS0000 SSDODOO

SSx10" S Sxlo' 550 %10, 0-55 X1V’

(Total for Question 10 is 2 marks)

11 Write these numbers in order of size.
Start with the smallest number.

0.099 x 104 0.99 x 103 9.9 x10° 990 x 10-°

0-00060%4 0-00094 0-00002Q (.00000042

) _ -3
990x 5" 0-049x10 " A9x16°, 044 x ()

(Total for Question 11 is 2 marks)

12 Write these numbers in order of size.
Start with the smallest number.

3.1x10° 3100 x 101 0.31 x 10° 31 x 102
210000 710 21000 3100

Tioox\0” | 3Ix|p, 0-3Ux 0, 3.1x\0

(Total for Question 12 is 2 marks)

www.1stclassmaths.com © 2024 1stclassmaths



http://www.1stclassmaths.com/

I’ y r@ @1stclassmaths

13 The table shows some information about some planets.

Planet Distance from Sun (miles)

Mercury IS X ‘o?'
Earth 9.3 x 107

Jupiter 4.84 x 108

Saturn 9 x 108

Uranus I 8 x \oq

(a) Write the distance of Saturn from the sun as an ordinary number.

200 . 000,000

miles

(b) Mercury is 35 000 000 miles from the sun. \% x \O
Uranus is twice as far from the sun as Saturn is. &
Complete the table giving your answers in standard form.

Mars is 1.42 x 108 miles from the sun.
(c) Craig says
“Mars is closer to the sun than Earth is because 1.42 is less than 9.3”.

Is Craig correct?
You must give a reason for your answer

N.O \lﬂxw I#Loooooo
93 )&lo < °l‘$000 000

(Total for Question 13 is 4 marks)
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14 (a) Suresh needs to write 32000 in standard form.
His answer is 32 x 103

Explain why Suresh’s answer is incorrect.

3) s too big. \& dhould be bekweew

(b) Lisa needs to write 0.068 in standard form.

Her answer is 6.8 x 102

Explain why Lisa’s answer is incorrect.

& thowdd oe 6€X10*

b8x 0 is 690 not 0068

(Total for Question 14 is 2 marks)

15 (a) Work out (3 x 10%) x (5 x 109)
Give your answer in standard form.

'S x 107

'S x (0

(b) Work out (7 x 108) + (2 x 10%)
Give your answer in standard form.

1S X \OL'r

(Total for Question 15 is 4 marks)
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16 (a) Work out (8 x 108) x (9 x 10°9)
Give your answer as an ordinary humber.

21 x O
3-2%x 1o°
+ 100 000

(b) Work out (9 x 10°) + (3 x 109
Give your answer as an ordinary humber.

1x|0°

1000

(Total for Question 16 is 4 marks)

17 (a) Work out (2 x 10%9) x (4.3 x 10%)
Give your answer in standard form.

%6 x(ow

(b) Work out (9 x 10%) + (2 x 107?)
Give your answer in standard form.

LS x|[O

(Total for Question 17 is 4 marks)
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18 (a) Work out (5 x 10%)2

Give your answer in standard form.

25 x lO6

(b) Work out (3 x 108) =+ (6 x 10?)

Give your answer in standard form.

0S5 x o

19 (a) Work out (9 x 10-3)2

Give your answer in standard form.

%) x 10 °

(b) Work out 2 x 10°
8 x 104

Give your answer in standard form.

05 xI(0

2'S x o

Sx (O

(Total for Question 18 is 4 marks)

2] x \D

S % \o°‘

(Total for Question 19 is 4 marks)
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20 (a) Work out (3 x 10%0)3
Give your answer in standard form.

123+ x (07

(b) Work out (6 x 10%) =+ (5 x 1073)
Give your answer in standard form.

6 - |4
= |-

21 (a) Workout (5 x 10%) + (2.3 x 10?)
Give your answer in standard form.

L ¥ x \0"

-2 x \ojr

(Total for Question 20 is 4 marks)

S0000 + 230 = S0130

(b) Work out (6 x 10%) — (4 x 109)
Give your answer in standard form

S-0Lx O

60000 - LoWD = S6000

S-6x(0¥

(Total for Question 21 is 4 marks)
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22 (a) Workout (6.6 x 10%) + (1.5 x 10?)
Give your answer as an ordinary humber.

660 + 0 OIS
- 660 OIS
660 - 0IS

(b) Work out (8.02 x 10°) — (1 x 10%)
Give your answer as an ordinary humber.

202000 ~ (060
= %0l1960

%0190

(Total for Question 22 is 4 marks)
23 (a) Work out 30000 x 2300

Give your answer in standard form.

69000000

6-1 x (O
(b) Work out 600000 -+ 5000
Give your answer in standard form
000E2D = 000
So00 S
= |20
1
|- L wx (O
(Total for Question 23 is 4 marks)
10
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24 a=6.3 x 10
b=21x10?

(a) Work out the value of 3a
Give your answer in standard form.

13-9 x O}

189 x \0’

(b) Work out the value of %

Give your answer in standard form.

6321 =13
1x10

(c) Work out the value of a+ b
Give your answer in standard form.

63000+ 210
63210

6:-1101 x lol'r

(d) Work out the value of b?
Give your answer in standard form.

2\ 212 belel
2\

2\

420

g\ k-4 x (0"

(Total for Question 24 is 9 marks)

>
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25 4400=44x10" =

(@) Write 4.4 x100*1 as an ordinary number.

4.4 x(0Y
44 000

(b) Write 4.4 x 10 as an ordinary number.

G4 x\o~>

0-00 44

(c) Write 4.4 x 102" as an ordinary number.
4 x (0°
% %00 000

(Total for Question 25 is 3 marks)

(6 x 105) x (8 x 10%)
(2 x 10%) — (8 x 10?)

26 Work out

Give your answer in standard form.

49 x loq = 4.9 x (D‘o
2,000 -800 = 100 = \1X[D

tgx 10° = W x|DT
¥ of

L x [0

(Total for Question 26 is 4 marks)

12
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